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Most missed question from test:

If -5x + 80 > 2x - 25 and x is an integer,
what is the greatest possible value of
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Fonction NoTaTion

Equations can be written in a form called function notation.
We use this as a quick way to evaluate functions for a given input.

xXample: y=2x-8 | == F(@:ZX"’K

Sy

This is read as-F O? X QQOUQR - -



To evaluate a function for a specific value, substitute the value in for

© s =3x-8
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Bh(x)=3x2+7 o f(x)=-x*+6x-4
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0h(x)=2—4x
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Anthropologists use the length of certain bones of human skeleton to estimate the height of the living
person. One of these bones is the femur. To estimate the height in centimeters of a female with a
femur length of x, the function h(x) = 61.41 + 2.32x can be used.

a. Find h(46) (DI.LH-I-Z.SZ(WD)
|68-12 em
b. What does this mean?

Heiqlt of Yhe femals
(How talll ahug\



@ Given the graph of the function f(x), find each of the following.
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Graphing Functions

Fiy=2X-3

Example: y=2x-3 x |y
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y=2(-1)-3 5 /



lL.y=x+4




3. y=3x

4.y=--x+2







